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— Y72V YOI 2N
And he can collect from the encumbered properties

OVERVIEW

A debt (217) may be collected from 2>72wn 2°031 provided that the debt was
public knowledge (there is a ). Otherwise, in order to protect the
consumers (MmMp?), a debt can only be collected from the debtor’s own
assets (the > °12), but not from o°723Wwn. The 7P (publicity) that there is a
debt is created by the 0°7y. All agree that 7n°nn >7v create a 7 and therefore
a WY with 72°n1 7Y can be 0 72 WH 0°0217 7M.

Our mpo1n will be discussing whether 77°0n 7V alone can also create this
77 (according to &"); thereby enabling a "vw that was accompanied by 7
77°0n only, and had no 72°nn 7Y, to collect from 72w wn. This will depend
on how we interpret the statement of X" that a v with only 77°0n 7V 1s W2
and it is 2°72y1Wn 0°0211 721 The question at hand is; was X"1 referring only
to the debt incurred by a 7wX v3, namely the payment of the *721n, or was he
referring to all debts, that they can all be collected from 2°72y1Wwn 0°021 as
long as there are 77°0n 7.

= DY1AYIVN DD NN NIN NN Y0V DN DIVIPA W9 1Y HYD
The second interpretation of "w=9 is that the statement 12°021 721
'D>72vIWR, 18 to be understood, that if it is a note of a loan that did not have
nnenn >7Y, there were only 77°0n 7Y present, nevertheless the mbY» may

collect his debt even from the secured properties that were already sold.
= 9P%Y O 139299 NI 19

And the n''9 agrees as well that this interpretation is the correct one -
= DYTAYIVN DIDIIN NN YT¥A NN MIVY INVYI 1DONT

That even by all other documents, not only by a 7wX v, one may collect

what is owed to them from the 272y 2%051 on the basis of the 719°0% s7v
alone, without 7n°nm 7y,

mooIn will now bring a proof to support this view:

" There is no question that the "7 of *n73 7701 *7v (according to X") applies to all N vw. The discussion at
hand is only if it is also >7T2ywnn 7213 or only 71 "12n.
? The reason why a 72102 may be different will be explained later in this Moo, See footnote # 10.
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= 19092 9TYIN 2295 NIVN 29 INT (3,0 97 10pY) NN P93 YNHIYNTD
As is implied further in our noon in the last P25 where 21 said; ‘the 112557 is

like X''1 in the cases of °¥9’ that *n73 77°0n 7w and a v without 7> nn 7V is Ww>.

The X773 there asks; do you mean to imply by this statement’, that -
= DYTAPIVYN DIDIN NN NP RN XY MIVY INVYI)

By other documents the 175971 is not according to X"9; we do require 7V
7 nn! This cannot be for we learnt in the 71w that X" said; ‘and he may
collect from 2372y % 2052, The same X" who states that a v is W3 with 7
7701 only, maintains as well that with such a document one may collect from 2’021
272y wn. The term 27a:wn 2°023 723 would indicate that X"9 maintains his position
that °n7> 77°on 7Y by all documents that can be o°72aywn 20°031n 7213, which would

include 21 *"vw. Therefore if 27 supports X" he should not limit it to v*) M35 alone.”
= MIVY INWYI 1) 99N ITYION 297 NIYN

We can derive’ from that X»3, that 8'1 is discussing other mauw as well®
as .

mooIn asks a question:
=012 17 H°22 Y7 2N PINID (x,9p 97 x9N x22) VIV VI 9IRT YD

And there is a difficulty; for the X713 queries in ¥Yw?2 v P79, ‘what is the

ruling if the borrower’s handwriting is established in 7''%2?’’
= Y12¥VNN DAY 1NN VIV

The explanation of this query is; whether the lender may collect his debt
from 2 72y 09033, since there were no a°nm >7v.°

= D721V 020230 NN NPT PVNT THNI 511
And the X3 quotes from this maw» in Pws» Ndon, which states ‘and he

may collect from 272y 2%022°; from which we can derive that even though
there were no m°nn °7¥; nevertheless he may collect from 272y 7wn 2°021. This would

3 27 qualified his support of X" and limited it to be 2*w>n only Pv*x and not other nLw.
* The X3 there responds, that 27 understands that X" made two separate statements; one concerning "0
and another concerning N1NVW XY. 27 agrees with X" only concerning 1°0”3.
> See “Thinking it over’ # 2.
% If the phrase D°72yWwn 00211 72N is referring only to the collection of the 12103, the X713 should not have
asked X? NM1vw Xw2, rather the X173 could have asked at most X% 72102 P9, The fact that the X3 asks
X? NMLW KXW proves that the X3 understood the phrase 0°729Wwn 0°0211 721 to mean that any ww with
7701 *7Y (only) is O°72¥IWR Q°001 AN
7 o"awA there explains this as follows: After the % gave the m%» a note in his own handwriting stating that
he owes him a sum of money, the m> subsequently came to 7"°2 and admitted that this is his handwriting.
7" then wrote (for the m%») a P517; notarizing and authenticating this 7> 2n>3.
¥ From 0"2w" there, it is evident that the query is concerning the properties that the 1 sold after 7"2 issued
the poam.
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seem to resolve the query there’; however —
= N2)N2 NIINT ONN NNV VYN

The X3 refutes this proof by saying ‘it is different there by v3, because

there is a m31n> that was signed by witnesses, therefore she may collect from 2°031
o7anwn. 0 However, in the case of a regular 217 70w, if there were no 72°n1 >7Y, even if it
was written M%7 7> 2032 and there was a 517 (or 77°01 *7¥) you may not collect from
[akimbiali7jalakiolmh

mooIn concluded quoting the X713 in 2"3, and will now explain the difficulty:
= VY INVI XD 99N VI XPITT ¥RYN

It is apparent from that X3 that the phrase 'D7aymwn 2°021n 721, is

concerning only a v3; and it is not discussing other MWW as well. This
seemingly contradicts the opinion of the n"9 (as well as the second ¥17°d in ") that the
77 of D 7ayWwn 0°031n 72 refers to all M7VW, and not only to collecting the 72103 with
the 77°0n >7v of the va.

mooin offers a alternate reading of the text to uphold his opinion
- rwe) 1ayow 12N NYYNT DN SINY DN D) NN 13 INIIY 19329

And the 2"2wn has a different reading of the text there in 1"21. Instead of
the text reading as previously quoted in mdoIN that, 72102 XI°XT QN7 “IRW';
the text reads: ‘It is different in 70> n2o» from our query here in 2"3, for
there in 70’3, from the time of writing the note, he subjugated himself’ to
repay even from the 2>7237Wwn 2°021.

— D7Y 2392 1901Y 215 AN YOYWN ANV VIO
The explanation of the difference between the case in v n2on and the
case in 2"2'0n is; in V) 'on when the 9vw was written it was written with

the intent that it be delivered in the presence of witnesses -
= DYINN D21Y 1IN DI NN NNINN 1Y DIPNA NN 1Y 1NV

That these mvon 7v should be instead of the 701 %7 and so there is

publicity as if 2>7» would have signed the “ow -
- XY 19291352 901 T N33 17 AN PININ 1Y NIV PYY YaN

However, our query previously in 1" is concerning a case where his
handwriting was authenticated in 7''>3, but nothing more, meaning that

? That just as by 7" you can collect 17 2n22 if there are 770 79, here too if there is a P93 on 17> a3 it is
as good as 77°0n *7v and you may collect from 0°723Wwn 0°0331, even though there are no 77°01 *7¥ nor 7
o nm.
' See footnote # 2. The 721271 *7¥ created a 71, therefore one may collect from 2>7291wn 0°031.
' This is also how the text reads in our N3
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the Mm% delivered the 20w to the %% himself; there were no 7701 >7v -
- 71? 19 NNV OV MYYY N9 INTINY NIN M9 N9

And he had no other intent except to formalize an admission,'> but he had

no intent of creating a 9vw from this note that it should have publicitys; it

was merely an ‘IOU”’.
= 197 5% PINIMN IDON DY XY 0NN

And in that situation even if 7''52 authenticated it, it is of no avail. It will
not be considered a 70w to enable the M%7 to collect from >7avwn 0021,

moon will now mention an opposing view:
= (3,591979) YNNNT NONAN NIDD (3,157 91 0w) VIV VIT X¥NNT WD HNIN 1929

And the 1"'9 explained that the X773 in v vx P79, which stated that only
by AWK vX are you D°72¥IWN 0°0211 120 because there is a °72nd; that Xm3

argues against the X713 in wW9a»7 79, which indicated that by all nuw you can
be 2>72yWwn 2°0211 721 In the opinion of the 1" we cannot reconcile these two M3, but

rather we are forced to conclude that they argue with each other.
= VIV VIT NINAN TIUDY YIY ININ 13°39 PO

And the 1''1 ruled that we are to depend on the X723 of WY WA P75 which

indicates that you cannot be 0°72¥1Ww» 0°0311 71273 if there are no 7 N 7Y
= 9991 93219 NN N0 S7¥3 19%2:9 XD

And we cannot collect with ;779302 57¥ alone only from the unencumbered
properties; those that are in the possession of the M2 and were not sold.

moon will now present a difficulty with the opinion of the 1"9
= (N0 97 129292 ©/YNT NAND 79999 XM

And concerning that which the X923 itself asks later in this P9p -
= INIVY? T1ND 29N Y9017 NNDID VY r3)

Regarding the case of a Persian "uw that was delivered in the presence

of Jewish witnesses. The (217) 7vw was written in Persian and was signed by non-
Jewish witnesses. However it was delivered to the m>n in the presence of two Jewish
witnesses (who understood what was written in the q0w). The X723 originally stated that
such a 70w could be 721 from 77117 °12 only. The X713 asked:

— %)Y 91 YTaAYVUNNM Y91 IN
If so — that all the criteria for a 70w have been met, and the 77°0n 7V
understand what is written in the “vw, then the 57 should be able to

"2 It was done in order that the 722 be secure that the i will not deny the loan.
" The n" follows the original X071} that 1900 quoted: 7212 X2°XT N7 "INW'.
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collect his debt even from 237ayyw» 0°021. According to 1" who claims that in
order to be 7avwnn 7213 it must have 137°0n >7Y, how can the 813 there ask that it should
be “T1avwnn 7121 there are no Jewish 7»°0i > on this X019 “vw?!

N1B0IN answers:
— DTN D293 T2 3TN 1YY 1NN 399927 INIIN 19°39 VY NYP NY

There is no contradiction from this X713 to the ruling of 1''9 for we are

discussing a case where lay gentile witnesses signed this “uw -
- 1AW 5331 PNYT RPSD 9910 DIVM PDVPa Y9t

As "w1 explained and therefore we assumed that he can collect >7aywnn
— PINIIYI MVTN 23N 22PYUN HRIY? TND 9N Y9017 11’0

Since the 7w was delivered in the presence of Jewish witnesses, these
Persian laymen that signed this 7Ww are considered as if the Persian

Courts signed this qvw. If a 271 70w is signed by a gentile court it can be '® 220311 a1
o>7anwn. The Jewish 777°0% >7¥ in conjunction with the Persian 72°nm 79 give this 70w the
status of MX>7y which can collect from a>7aywn. The ruling of the 1" pertained only to
those cases where there were no m°ni >7v at all; only 77°0n »7v. The 1" is of the opinion
that 77°0n *7¥ alone do not have the power to allow one to collect from 2723 7Ww» 0°031.
$1NN TP NIN YTaYWNN 23X XIT 1NDPY NI DIVIPN PYIN ON

And also from the text of >'"w~ later on'’, it is evident that one cannot
collect from s7aywn unless there are 72307 S7¥ on the “ow.

SUMMARY

There is a dispute whether a 217 VW that is accompanied with 77°07 *7y, but
has no 7m°nn 7v; if such a 7vW can be *7Tavwnn 721 according to '°X". The
n"1 and the second 1w of >"w1 maintain that it can be >7avwnn 7213; while
the "1 and the first W9 of >"w (as well as *"w1 on X 77) maintain that you
cannot be >72yWwnn 7213 without 72°0m 7V,

n" find supports for his opinion based on the X3 in w7, which
maintains that the 712777 of 0723 Wn 0°021 721 with 77°0n *7v alone, applies
to all mvw, according to X"7. Concerning the X713 in 2"2 the n"1 follows the

'* See “Thinking it over” # 3
"% See there X70w 7"7 *"wA.
'® A gentile court is considered honest, and its proclamation is sufficient to render a 91p.
7 Seemingly Mmoo is referring to the *"wA on X2p % N7 7"7 X,X° A7, where *"21 states: XWX M NAT 707
W'y ,"N21 ROPY Opon NIX.
'8 There seems to be an agreement (759777) that a qww with 77°0n *7v alone is a valid 7w (concerning the
inadmissibility of *ny15 niyv for instance); the dispute is only whether it can also be >7aywnn 721,
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X073 of the 0"aw", that 77°0n *7v are *7avwnn 721 if initially the % intends
to give over his 7° 2n3 as a W to the MY» in the presence of 7701 »v. If
however there was never any intention that this note of debt be used as a
legitimate Ww; it was not intended to be delivered in the presence of 7¥
117°0n, then even if there is a 9917 it cannot be 2>72y1WH 0°0211 721,

The 1" accepts the X072 in 2"2 that differentiates between the 71wn of A
70 and the case of 17> 2n3, by stating that only by a 3 can a woman collect
her 712102 with 77°0n >7Y, since there are 72°n1 7Y on the 72102, However by a
217 W if there are no 72°N0 *7Y it cannot be »72ywnn 7213, The 17 is of the
opinion that we follow the X773 in 2"2 and not the X373 in w7,

According to the 1"1 the reason the X723 originally claimed that we should
be >72ywnn 7213 in the case of a *X07D W that was delivered in the presence
of X 7701 7Y, is because the combination of X073 an°nn >y and 7Y
%X7w 77707 should render this 0w as if NMXD7Y signed it. However if there
are no 72°nn 7Y at all then, according to the 117 (and *"w7), one cannot be
TAVWNAN 7.

THINKING IT OVER

1. Everyone agrees that with 7n°ni >7v you are >72vwnn 71213 However with
77°0n 7Y some are of the opinion that you cannot be >72vwnn 7213, Why is
there this difference between 7n°nr >7v and 77°07 >7¥7?

2. Explain the difference between the X713 in w7327 proving that X" is
discussing MW XY, and Moo proving that X" is discussing Mvw ww."”

3. mooin sought™ to disprove the opinion of the 1" from the question of the
8 n3, that asks: "2x% “n1 *7aywnn 7"K"; why does m»oin not bring proof
instead to the opinion of the 1" (and refute the opinion of the n"9), from the
conclusion of that same X773, which states that with 77°0n *7¥ you cannot
collect because there is no ’71??21

19 See Footnote # 5.
2 See Footnote # 14.
21 See X"wAmn (and 30 MK "97).
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